bnkBaagpaTHble ypaBHEHUS
1) 25x™N4 + 66x"N2 — 27 =0
2) X6 + 9x"3 +8 =0

25x"N + 66x"2 — 27 =0

y=x"2

25y"N2 + 66y — 27 =0,

D/4=D*=(b"2-4ac)/4=b"2/4-ac=(b/2)"N2-ac=33"2+25*27= XN6 + 9xN3 + 8 = 0;

=(37N2*11N2)+(25*3*3"2)=3"2(11"2+25%3)=3~2(121+75)= y=x"3;

=3N"2*14"2; D*>0; VD*=3*14=42; y;\2+89y+8=0;
yl=-o,

yl=(-b-VD)/2a=(-b/2-VD/2)/a=(-b/2-V(D/4))/a=(-b/2-VD*)/a= y2=-1;

=(-66/2-42)/25=-33-42/25=-75/25=-3; X"3=-8;

y2=(-b/2+VD*)/a=(-66/2+42)/25=-33+42/25=9/25; x1=-2;

XN2=-3; XN3=-1;
x2=-1;

no solutions
Answer: -2;-1

xXN2=9/25;

xXN2-9/25=0;

(x-%)(x+%)=0;

x1=%

X2=-%

Answer: % -%
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